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‘The figures in the margin indicate full marks
for the questions

'l Answer any five questions

following information for designing a

/(/.‘ fa) Arvind Corporation has collected the
: promotional campaign for its products :

Advertising No. of . Cost per Maximum Exposure
P Media Families Advertisement Times Quality Units
Expected to (Rs) Available per
Cover : Month
TV (30 sec) 1000 8,000 15 65
Sunday TV
am (1 min) 2000 7,000 10 90
Daily
Newspaper 1500 3,000 25 - 40
Sunday
Edition of
a Daily 2500 4,000 4 60
Radio 3
(30 sec) 300 5,000 30 20
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(2)

The advertising budget has been set as
Rs 70,000 for the 1st month’s campaign.
In addition, the following restrictions
have been set : At least 10 television
commercials must be used, at least
40000 families must be reached, and no
more than Rs 35,000 be spent on
television advertisements.

Formulate this as a linear programming .
problem so that the company’s objective
of maximizing the total éxposure quality

units is net. 7

‘)&(b} Solve the following linear programming

problem using graphical method - 7

Maximize Z = 100x; + 80x,
subject to ‘
Sx; +10x, <50
8x; +2x, 216
3x -2x5 26
Xy, X9 20

2. Consider the following transportation
problem involving three sources and four

destinations. The cell entries represent
the cost of transportation per unit : 2

st

Destination ol
nud

Dl D2 D3 D4 Supp iha

S 3 1 7 4 300 .

Source s, 2 6 5 9 | 400uhal

‘ Sz 8 3 3 2 500" U8

Demand 250 350 400 200

all—400/1045B ( Continuéd'}

(3

. the initial basic feasible
. using Vogel’s approxima-
iethod (VAM). ;

‘ tfl'olution optimal? 5+3=8

following assignment problem ,
ning four salespersons to f' e
it sales regions. The cell entries
ent the annual sales figures in
28 of rupees : : e

Sales region

1 2 3 %
A 1Ts T
B 5 i 9 7
C 7 8 9 9
D 6 8 11 12

0 ‘ve the following linear programming -
oblem using the simplex method : 9

Maximize Z =6x; +8x,
subject to ;
5x; +10x5 <60
4x; +4x, <40
X, X9 20

lain the relationship betwegn the
mal and the dual. How is .the
cnowledge of this relationship beneficial? 5
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B ‘
€ach player ha Play a game ip 7
srobability that the project

apleted in 45 weeks.

apger wants to be 90%

the project will be

by a certain due date,
weeks prior to the

should he start the

i 3+3=6

. gorporation blends three raw
to produce two products : fuel
and a solvent base. Each ton of
bMve is a mixture of 0-4 ton of
3l 1 and 0'6 ton of material 3. A
lvent base is a mixture of 05 ton
't al 1, 0-2 ton of material 2 and
following ; Vily in a p : ‘ » 5 of material 3. RMC’s production
WIng Information isE 1:3,‘ Network, the strained by a limited availability of
Expected time = 9 gk ) firee raw materials. For the current
Optimistic time = 'S days . etion period, RMC has 20 tons of
Variance = 625 :1 S days : al 1 available, 5 tons of material 2
| 91 tons of material 3 available.

e

times of t}?‘le most likely an - 5 il

IS activit d pessimisti management has speciil® e
o 168 ng goals :

(i} DeVelop 'a p

a 3 3
to player 4 yoff matrix with regp:

, pPlayers, Ptimal strategieg for
®) What s , 0-1 .

P‘I‘Oblem (IPP)
8ive rise to 0

SEsEE

inte
? Cite t ger program A

WO sj i i57
1. Iopg Situationg whi

S. (@) For o okt

B), The op
Critic e
“)(/ €Xpected al activities of a proj i 1 : Produce at least 30 tons of fuel
deviations (mUramons and cJect, their 3 additive
femd : weeks) are give Sandarg foal 0 : Produce at least 15 tons of
Expected 9.0 B n here 1 %
Sonch duration . i5 E G pe ‘ k. solvent base
ard deviation : o /3 3 8 - K LA 2al 3 ; Produce a product mix to make
A8 18 gl a 45 68 a profit of at least Rs 4,600
0/1045B e ulate this as a goal programming
{ COnti o Em' |
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(6)

6. () The following tab]e gives data on normal
time and cost,

and crash time and cost
for a project -

Activity

(7))
7%x2=14
laborate on the following (any two)
7. E r | y
\%r lication of OR in different secto
a) App ‘ _

n i stem
(b) Simulation of an inventory sy

Duration (i

in

1-2

i i ' hanges
(c) Sensitivity analysis for c

2 L s
3 objective function coefficient
— i e theory
3-2 g (d) Pure strategy in gam .
3 4 | * % K

3-4 4 -

4-6 3

- )\ 110

() Draw the networ
critical path an
duration, ;

k and find the
the normal project

(i) If the indirect costs are Rs 100 per
week, find the optimum duration by

crashing and the corresponding
project costs. 4+6=10

(b) /When asked to compare three soft drinks
with respect to flavour, an individual
stated that—

() A is moderately
than B;

more preferable

(W A is equally to modeljat_ew
preferable than ¢

(iti) Bis strongly more |

el

émpmmn matrix

Set up the pairwise

' for this problem,
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